SMILE
faug — w1forg
BET—12

1. U® U 2x2 egg A=[aij] & o1 sy, e srae aij = | -5i+2j | g1 3 oima 2

(1)
2 W%@ﬁ:%%aﬁa‘w\zﬁwaﬁaﬁﬁm (1)
3. f(x)=2x+3 gR Usd Be f:R — R R faaR #ifsie | Rig @I & f g 2|
f o1 yfaed B W S ST | (2)
4. fsinzdc):)szx i l (2)
x+4 2x 2x
s RgdfRmfd | 2x x+4  2x | = Gx +4)(x — 4)2. (3)
2x 2x x+4
6. 3IARTST ST dITY 49 f(X) = x2 - 6x+5 9 Y& % f
a) foRaR w2
b) R e ® (3)
7 aﬁz=2i“+2“j+3k“, ;= -i“+2“j+/<“sﬁq;)=3i“+“jsvw%ﬁs::+xzﬂﬁw;’waﬁ%,
al A BT AT ST B | (3)

10.

Jmerd fafy | fFrfoRed WRaw 9ima S91 &1 <[ATHIERT & foly 8 BT -
59T Wl Z=5x+y
I@RY  3x +5y > 15
5x+2y <10
x20,y20.
(3)

sradmd R (tan-ty — x)dy = (1 + y?)dx &1 faf¥re gt sa @Ifste afy x = 0 qor y=0]|
(6)

Th Afdd & IR T AT & b 98 3 H W 2 IR A dloldl 2| 98 Ub U Dl IVTAdT & 3R
AT 2 fb ST 319 dTell G&AT 6 2 | 3! UTRIGdT SI1d BT U UR 7 dTell ARl a4

6 TI(6)




